PAB - SthEEE) S

R
ER AR BPAB A CE RIS R A B,
PR TR PR AR R —,

EmiFE
- Thie PAB...D #/EH
PAB...S EE{EF
- NiEHE 24 %= 1596 Nm
(1R, RIREES6 bar) A |
- RIRE S 6 bar
- FIR BESRRPERE
- IEBRE -15°C & 80°C
- R RAPTEIZAZZE (RIS EN I1SO 521170 DIN 3337
ERLRIFNED k8 VDI/VDE 3845 (NAMURBEH)
hiz] EEIFRETEER
EtisE
- BEATEERAMmR

ERA ) ERRE, I ERSERSHMIREET,

HEEEE, BRHERERE RSN, RELRECE, B/, FASHER.
AIEFRAE £ 5 A E, LUBBAERARIPIE (L,

ERRER. REHERIHNEDTHA,

EENRERBRRSSNM, BES, E8E,

TAREEEE

FHREE (RAL 5021) iKE

FRERANEEGIATEAME, 25 T MBI,

I EfERas

TEFARMNERIEE,

ﬂ&@
InterApp A dedicated member of the ®E Group

1/4



PAB - SchERE)2E

7E
raRe PR BYSEASTM6005, IR E IR S (L
HE FREE$RS S (ADC12F0ZL101) , ¥R EfE
EE FREE8R A2 (ADC12F1ZL101) , FRiR&E 1k
B 55CrSi
e & $E$220CrMo
VA==t PR IMREERR
BUSRIRTS
PAB105 D FO7 -F10 22
(1] (2] (3] (4)
O EFBRRT PAB052-300
D “/ER
@ &
S12 BER+EEEHS
© RIPEEEE FO05 - F16 #AIZEN 1SO 5211
O mMEEERT [mm] RAEEER T
Thee
PAB...D £{FFREESHZE PAB..D U
ERIBARMBRIRE S, R BRI RARIERL,
(= BFE1EER90°)
EBEBIRMERRES, FEEREZIRRLL
(BB 778590°) PAB..D U
PAB...SE{EFREES)ZE
ERIRBIRERIRE S, FEEE B RIRIRZNL, PAB..S U
EIRF B 4EE S,
(=B BF$1EEE90°)
SRR PR BB i R A R RIEP L.
(= IEFFET7EES90°) PAB..S U
www.interapp.net 2/4




PAB - SchERE)2E

H3E{E [Nm]
PAB...D - &{FFEEE)23
SRR 116 bar FEYHEE
PAB 052 D 24
PAB 063 D 44
PAB 075 D 60
PAB 083 D 94
PAB 092 D 135
PAB 105D 196
PAB 125D 301
PAB 140 D 522
PAB 160 D 794
PAB 190 D 1280
PAB 210 D 1596
H*E{E [Nm]
PAB...S - E{FREEENZS
FUREEF16 bar FHYHREE [Nm]
0° 90° 90° 0°
PAB 083 s12 56 38 55 37
PAB 092 s12 80 56 79 55
PAB 105 s12 119 77 118 76
PAB 125 s12 181 114 187 120
PAB 140 s12 315 211 310 206
PAB 160 s12 459 332 462 335
PAB 190 s12 825 512 768 455
PAB 210 s12 1134 703 1056 625
PAB 240 S12 1823 1113 1644 934
PAB 270 s12 2664 1572 2304 1212
PAB 300 S12 2754 1746 2478 1740
PAB...D PAB...S
A A
Md Md | Preum to ing toraue
- tor, ing
[Nm] [Nm] que Spr
fa o
H =
& as]
0° RAPIBEE 90° 0° RAFIREE 90°

www.interapp.net 3/4



PAB - SchERE)2E

F
T PORT '2'

PAB ...D

R e

A B C D E F G| N [P | R|S [TV Z1 |VJ]|VJIl| tr it [kal
PAB 052 | 147 72 72 M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 | 24 | " | 405 | 0.1 | 0.16 | <1 <1 14 | <1
PAB 063 | 167 88 83 M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 | 24 | " | 405 | 0.2 | 0.23 | <1 <1 21 <1
PAB 075 | 184 | 100 95 M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 |24 | 4" | 405 | 03 | 0.34 | <1 <1 27 | <1
PAB 083 | 210 | 109 103 | M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 | 24 | 4" | 405 | 04 | 047 | <1 <1 33 | 0.8
PAB 092 | 262 | 117 109 | M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 | 24 | " | 405 | 0.6 | 0.73 | <1 <1 4.7 1
PAB 105 | 268 | 133 121 M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 | 24 | V4" | 40.5 1 0.88 | <1 <1 6 2
PAB 125 | 301 155 143 | M5x8 | M5x8 | 80 | 30 | 20 | 20 | 32 | 24 | %" | 55 1.6 1.4 <1 <1 O15) 3
PAB 140 | 394 | 173 152 | M5x8 | M5x8 | 80 | 30 | 20 | 20 | 32 | 24 | ¥." | 55 25 | 23 <1 <1 14 3.9
PAB 160 | 458 | 198 174 | M5x8 | M5x8 | 80 | 30 | 20 | 20 | 32 | 24 | ¥a" | 55 38 | 34 | <15 <15 | 21 4
PAB 190 | 528 | 232 206 | M5x8 | M5x8 | 130 | 30 | 30 | 30 | 32 | 24 | 4" | 80.5 | 6.1 56 | <15 | <15]| 33 5
PAB 210 | 532 | 257 226 | M5x8 | M5x8 | 130 | 30 | 30 [ 30 | 32 | 24 | »»" | 805 | 7.8 | 7.8 <2 <2 39 5.5

AA|A
SN S IENIMIINIINI ST EN NN N N N
-

o

PAB 240 | 608 | 291 260 | M5x8 | M5x8 | 130 | 30 | 30 | 30 | 32 | 24 | %" | 80.5 | 11 95 | <5 | <5 53 9 68
PAB 270 | 716 30 294 | M6x10 | M5x8 | 130 | 30 | 30 | 30 | 45 | 40 | 2" | 805 | 18 | 148 | <5 | <5 77 10 97
PAB 300 | 820 | 354 336 | M6x10 | M5x8 | 130 | 30 | 30 | 30 | 45 | 40 | 2" | 80,5 | 24 | 29,7 | <6 | <6 | 112 13 141
1) BSP /1S0 228 / DIN 259
v(l) BEE (UF+ % EE11D) , VO = B (OPEN) , VC = Rl (CLOSE)

EETRERS, 50EE UAREN) RUERE.
tO/tC  tO=3#TRARER/ tC = RARARERT (BB AF))
BRI R U TR T EEN:

-HREF18/\#5.5 bar (80 psi) -8 T-5E8N281T1290°- BB SR AN A H-TREFE6mm, RESm,
ARCERERRED, MRE LRFEMBETN—EHSZERE, ARFREEERRE,

EN 1SO 5211 Q Qf w W1 CH® x| CH¥* x|
PAB 052 Fo5 - 50 - M6x10 Bx 14* -
PAB 063 FO5-FO7 50 70 M6x10 M8x13 . Xt
T x 14
PAB 075 FO5-FO7 50 70 M6x10 Mgx13 - hxd
Bx21° 4x 17
PAB 083 F05-FO7 50 70 M6x10 M8x13 Sx s 1T
PAB 092 FO5-FO7 50 70 M6x10 M8x13 11 x 21* 1T
T x21* 17 x 21
PAB 105 FO7-F10 70 102 M8x13 M10X16 a2y el
11 x21* L 17x21
PAB 125 FO7-F10 70 102 M8x13 M10x16 22x 27
14 x 24" 22 x 40
PAB 140 F10-F12 102 125 M10x16 M12x20 . L Z2xAs |
22 x 40
PAB 160 F10-F12 102 125 M10x16 M12x20 R 22x27
22 x 40°
PAB 190 F12 ; 125 ; M12x20 22X -
22 x 40°
PAB 210 F12 ; 125 ; M12x20 X -
22 x 48°
PAB 240 F12 ; 125 ; M12x20 At -
PAB 270 F16 - 165 - M20%25 - 46 x50
PAB 300 F12 - 125 - M12x20 27 X 56° -
*EEEEEAISE

The technical data are noncommittal and do not assure you of any properties. Please refer to our general sales conditions. Modifications without notice
© 2021 InterApp AG, all rights reserved

www.interapp.net 4/4 PAB Pneumatic actuators_2129 cn-t



